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Exercise

1. Choose the correct alternative : [MCQ] The

numerical value of the AM of two regression

coefficients---

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Fou62tBT6Mil


A. can not less than 

B. cannot exceed

C. is equal to 

D. none of these.

Answer:

Watch Video Solution
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2. Choose the correct alternative : [MCQ] Mean

deviation about mean of a N(0, 1) distribution

is-

https://dl.doubtnut.com/l/_Fou62tBT6Mil
https://dl.doubtnut.com/l/_84DT5i65oZbG


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution
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3. Choose the correct alternative : [MCQ]

Acceptance region of a null hypothesis is

https://dl.doubtnut.com/l/_84DT5i65oZbG
https://dl.doubtnut.com/l/_myp4J9BNLpsH


A. equal with sample space

B. complement of sample space

C. critical region

D. complement of critical region.

Answer:

Watch Video Solution

4. Choose the correct alternative : [MCQ] f

 then an unbiased estimator of 

is-

X − (μ, σ2) μ

https://dl.doubtnut.com/l/_myp4J9BNLpsH
https://dl.doubtnut.com/l/_aMJ6Q7oAO6TD


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution
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5. Answer the following questions

(Alternatives are to be noted): If `X - Bin (7,1/3),

https://dl.doubtnut.com/l/_aMJ6Q7oAO6TD
https://dl.doubtnut.com/l/_MexiMyAOLIdL


comment on the kurtosis of the distribution of

X.

Watch Video Solution

6. Answer the following questions

(Alternatives are to be noted): Mean and S.d.

of Bin (n. p) are 4 and . Find the values of

n and p.

Watch Video Solution
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https://dl.doubtnut.com/l/_MexiMyAOLIdL
https://dl.doubtnut.com/l/_KyBM3btJRPti


7. Answer the following questions (Alternatives

are to be noted): Define simple random

sampling without replacement.

Watch Video Solution

8. Answer the following questions

(Alternatives are to be noted): Distinguish

between estimate and estimator.

Watch Video Solution

https://dl.doubtnut.com/l/_7vm3IFX62CKi
https://dl.doubtnut.com/l/_eTQsVz0GCQxw
https://dl.doubtnut.com/l/_GYMTRex99hAG


9. Answer the following questions

(Alternatives are to be noted): What is the

difference between simple and composite

hypothesis?

Watch Video Solution

10. Answer the following questions

(Alternatives are to be noted): What do you

mean by irregular component of time series

data?

Watch Video Solution

https://dl.doubtnut.com/l/_GYMTRex99hAG
https://dl.doubtnut.com/l/_CdvhIPIXkuFe


11. Answer the following questions

(Alternatives are to be noted) : Let 

and . Find .

Watch Video Solution

X − P (λ)

2P (X = 0) = P (X = 1) P (x ≥ 1)

12. Answer the following questions

(Alternatives are to be noted) : If X be a

continuous random variable with p.d.f. 

 
f(x) = k, a ≤ x ≤ b

https://dl.doubtnut.com/l/_CdvhIPIXkuFe
https://dl.doubtnut.com/l/_o8CPfi4y0AXs
https://dl.doubtnut.com/l/_EJgOCKomJjEn


0, otherwise 

Find E(x)

Watch Video Solution

13. Answer the following questions

(Alternatives are to be noted): In a partially

destroyed laboratory record of an analysis of

correla tion data, the following results only

are legible : V(x) = 9, Regressio equations :

 and .

Find the standard deviation of y.

8x − 10y + 66 = 0 40x − 18y = 214

https://dl.doubtnut.com/l/_EJgOCKomJjEn
https://dl.doubtnut.com/l/_phLnsrJoUPct


Watch Video Solution

14. Answer the following questions

(Alternatives are to be noted): In a partially

destroyed laboratory record of an analysis of

correla tion data, the following results only

are legible : V(x) = 9, Regressio equations :

 and .

Find the standard deviation of y.

Watch Video Solution

8x − 10y + 66 = 0 40x − 18y = 214

https://dl.doubtnut.com/l/_phLnsrJoUPct
https://dl.doubtnut.com/l/_VSmeFOM2szSR


15. Answer the following questions

(Alternatives are to be noted): If r be the

correlation coefficient between two variables x

and y then prove that .

Watch Video Solution

−1 ≤ r ≤ 1

16. Answer the following questions

(Alternatives are to be noted): What are the

advantages of sampling over complete

enumeration?

https://dl.doubtnut.com/l/_OI6aJrccXt7k
https://dl.doubtnut.com/l/_EwapvlZd10ZA


Watch Video Solution

17. Answer the following questions

(Alternatives are to be noted): Compare the

advantage and disadvantages of matheniatical

curve fitting and moving average method.

Watch Video Solution

https://dl.doubtnut.com/l/_EwapvlZd10ZA
https://dl.doubtnut.com/l/_p5sMVreSbn6f

